NCM3: Quadratics Review from Math 2 Name: #
Directions: We will be factoring and solving quadratics frequently throughout this unit. Below are “1Can...” statements m.o\a!aﬂ Math 2 coursework. You
should read the | Can Statement then complete the problem in the Prove It column, Tomorrow you will check your work. If it is not correct, you need to
complete the Improve It column at the indicated station. .

_ lcan.. Prove It Improve |t
1 Factor a trinomial where x - 2x - 24 Read through Factoring Quadratics using the Diamond o
a=1. 1Yy ac D . handcut. Focus on Example One. Then complete the
G \# -6 X 4 X 1QM$. problems at the station which match this "1 can”

T mX m\xu .TAL‘X. %Au statement.
(% -G) + 4 (X —)
Cx—(r +4)

¥ \F U &8@35@ when a=1 Yo
Edn mj>§ r From the %ESQ@

A=
Check your work: Correct incorrect

{If your answer is incorrect you need to go to Station 1.)

2 Factor a trincmial where i : 2x2—7x +6 Read through Factoring Quadratics using the Diamond
a = 1. 2 i handout. Focus on Example® Then complete the
Ax2 g =3 %+
Xt =3 problems at the station that focus on this “i can”

m_mﬂvﬁbc&Xu + (3% + muv statement.
IX(X - D) +=3(x—R)
(x =2)(ax -3)

Check your work: Correct fncorrect
{If your answer is incorrect you need to go to Station 1.)

_




Solve a quadratic equation
where a > 1 by factoring.

6x% +5x =4
OxP*+EX ~4 = O 4
<2 EX*-3X +8X
Ux*-2%) +(8x—4)=0
I(ax-i)+ 4(2%x)=D
(2AANZA+A) =D

-
-

I

Of‘s\“f-ﬁ

AX —~|=0C or Bx +4=0
Ik = | BK =—4
=4 o X = !n%l
Check your work: Correct Incorrect

(If your answer is incorrect you need to go te Station 3.)

O

Read the step to solving at the station then practice the
two problems provided.

Factor a difference of
squares.

: o 9x* 36 :
0% lb) Y = Brae)(3x4)
EXVR 17 L
Ve 4x%-3¢ GLF - elr
- 3(x+D)-3(%-

[r———————. &
Ut ‘V.\U . -
gob,\ b u \a(xs %2 \

Check your work: Correct Incorrect

{If your answer is incorrect you need to go to Station 2.

o)’ oy ] @ﬁy.yuuoﬁwf.\w

Work through the multiplication problems te find the
pattern then practice the two factoring problems.

Solve a quadratic equation,
with a perfect square
trinomial by factoring.

49x* + 112x + 64 =0

3 o, 3.
(1) \ (&*

2(1)(8)

Check your work: Correct incorrect

Work through the multiplication problems to find the
pattern then practice the probiem provided.

{If your answer is incorrect you need to Station 5.)




6 _ Identify the axis of symmetry FO) =3x% +12x =2 Read the reminder of how to find the axis of symmetry
ithout lcul . — y i i .
7_ without a calculator 9 - m Q 0. m . from an equation then do the two practice problems
b= 12 Y= D
O = Iw NQr\
2A%)
X =-12
b
X ==-2
Check your work: Correct Incorrect
(1f your answer is incorrect you need to go to Station 4.
7 Solve a quadratic using the 3x2 -2 =—-T7x Read the example using the Quadratic formula then
i quadratic formula . o complete problems 1 & 2.
| BRI —2 =0
o= W . . -
X=-b + {b>-dac
b= 20. 20
C=-2 R
Y = ”.‘.IMW + J OB Y)(D) -
- — , ———
> alz)
A==t 1 {49 v 24
: e
X ==L % V73
, . b &
X“!‘H.-\l.wnm.i mw;i X !,|.H.......Ix||..|\c.NW
1 o T e A
Check your work: Correct tncorrect
(If your answer is incorrect you need tc go to Station &.)




Complete Uﬁogm.,ﬁ.,:m 1-3 to learn how to sketch a graph

7 8 Sketch a graph of a quadratic glx) = =2{x+5)(x ~ 3)
M | without my calculator .N +| without a calculator.
P . oS Gr X+5=0 X-3=p |
AN | S
| m_ﬁ@ 30) | X =5 X =3
; -
w o=-2 Huces down ward 5 mekvy wdl be m\xp%d
_ S Wore gﬁ%%? \petroeen Ao ZENDS
, - erCepr o 4(o) = -2(0+5)(03 A5 o
= -a(s)-3) uf% -] K=~
= 30 : .
w ﬁ, = -2 (-} +m.vm|e.wv
Chéck your work: Correct Incorrect — \Nﬁ%&i&‘u
(If your answar is incorrect yvou need to go to Station 4.} -
(132) =32
9 , Selve a quadratic equation —6x% 4 5x = —15 Read IM2 Ch. 12 PG. 880 Calculator box

i using a graghing calculator.

~exX2+5xX +15=0 L.
(28 {troce

' XD
Vs (3.05i7847, 0 )

(-1.21861,0) |

Check your work: Correct Incorrect
(if your answer is incorrect you need to g0 to Station 7.)

Complete IM2 Ch. 12 PG. 891 #5a-d (do only “zeros:”)




10

| Complete the sguare to

| . . . .
write a quadratic equation in

vertex form,

x% 4+ 10x + 18 = g(x)
X300 = 4o —8

W24 1IOX+

K befe@m
(x+3 vw
(Xt6)* -
Verdex at (-5 1..3

Check your work: Correct incorrect
(If your answer is incorrect you need to go to Station® )

= g0 -

@OO +7
@OQ

— oy —18 4
I&O& g 4

| Read %&:m: the explanation that goes with this " can”
statement then work through problems 1 & 2.

t

B )

11

| Compiete the sguare to solve
a guadratic eguation.

3x? + 24x = =15
P8 x+ 1) = -1+ A8
L(e) =4 3(1w) =48
A=

3(x+4) =33
3 3

(x Y =3
JGaay =t

X+4 ={#l
* =4+

U

or x 47

Check your work: Correct Incorrect
(i your answer is incorrect you need to go to Station 8.)

This has two parts: First read the explanation of what a
perfect square trinomial is and try the practice problems.
i Then read the example of how to use completing the
square to solve a guadratic,




